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[Question ID = 201][Question Description = Q01_Chinese_ UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = Q02_Chinese_ UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 805]
2. 2 [Option ID = 806]
3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = Q03_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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[Question ID = 204][Question Description = Q04_Chinese_UGCNET21_20NOV_S1-Shift1]



1 [Option ID = 813]
2 [Option ID = 814]
3 [Option ID = 815]
4 [Option ID = 816]
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[Question ID = 205][Question Description = Q05_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 817]
2 [Option ID = 818]

3 [Option ID = 819]
4 [Option ID = 820]
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[Question ID = 206][Question Description = Q06_Chinese_ UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 821]
2 [Option ID = 822]
3 [Option ID = 823]
4 [Option ID = 824]
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[Question ID = 207][Question Description = Q07_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 825]
2 [Option ID = 826]
3 [Option ID = 827]
4 [Option ID = 828]
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[Question ID = 208][Question Description = Q08_Chinese_UGCNET21_20NOV_S1-Shift1]



1 [Option ID = 829]
2 [Option ID = 830]
3 [Option ID = 831]
4 [Option ID = 832]
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[Question ID = 209][Question Description = Q09_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 833]

2. 2 [Option ID = 834]

3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = Q10_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]
3. 3 [Option ID = 839]
4. 4 [Option ID = 840]
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[Question ID = 211][Question Description = Q11_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 841]
2. 2 [Option ID = 842]
3. 3 [Option ID = 843]
4. 4 [Option ID = 844]
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[Question ID = 212][Question Description = Q12_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 845]
2. 2 [Option ID = 846]
3. 3 [Option ID = 847]



4. 4 [Option ID = 848]
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[Question ID = 213][Question Description = Q13_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 849]
2. 2 [Option ID = 850]
3. 3 [Option ID = 851]
4. 4 [Option ID = 852]
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[Question ID = 214][Question Description = Q14_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 853]
2. 2 [Option ID = 854]
3. 3 [Option ID = 855]
4. 4 [Option ID = 856]
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[Question ID = 215][Question Description = Q15_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 857]
2. 2 [Option ID = 858]
3. 3 [Option ID = 859]
4. 4 [Option ID = 860]
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[Question ID = 216][Question Description = Q16_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 861]
2. 2 [Option ID = 862]
3. 3 [Option ID = 863]
4. 4 [Option ID = 864]
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= 217][Question Description = Q17_Chinese_UGCNET21_20NOV_S1-Shift1]

= 865]
= 866]
= 867]
= 868]
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= 218][Question Description = Q18_Chinese_UGCNET21_20NOV_S1-Shift1]
= 869]
= 870]
= 871]
= 872]
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[Question ID = 219][Question Description = Q19_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 873]
2. 2 [Option ID = 874]
3. 3 [Option ID = 875]
4. 4 [Option ID = 876]
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[Question ID = 220][Question Description = Q20_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 877]
2. 2 [Option ID = 878]
3. 3 [Option ID = 879]
4. 4 [Option ID = 880]
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[Question ID = 221][Question Description = Q21_Chinese_UGCNET21_20NOV_S1-Shift1]
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1 [Option ID = 881]
2 [Option ID = 882]
3 [Option ID = 883]
4 [Option ID = 884]
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[Question ID = 222][Question Description = Q22_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 885]
2. 2 [Option ID = 886]
3. 3 [Option ID = 887]
4. 4 [Option ID = 888]
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[Question ID = 223][Question Description = Q23_Chinese_UGCNET21_20NOV_S1-Shift1]

A W N -

24)

1 [Option ID = 889]
2 [Option ID = 890]
3 [Option ID = 891]
4 [Option ID = 892]
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[Question ID = 224][Question Description = Q24_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 893]
2. 2 [Option ID = 894]
3. 3 [Option ID = 895]
4. 4 [Option ID = 896]
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[Question ID = 225][Question Description = Q25_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 897]
2. 2 [Option ID = 898]
3. 3 [Option ID = 899]
4. 4 [Option ID = 900]
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[Question ID = 226][Question Description = Q26_Chinese_ UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 901]
2. 2 [Option ID = 902]
3. 3 [Option ID = 903]
4. 4 [Option ID = 904]
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[Question ID = 227][Question Description = Q27_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 905]
2. 2 [Option ID = 906]
3. 3 [Option ID = 907]
4. 4 [Option ID = 908]
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[Question ID = 228][Question Description = Q28_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 909]
2. 2 [Option ID = 910]
3. 3 [Option ID = 911]
4. 4 [Option ID = 912]
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[Question ID = 229][Question Description = Q29_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 913]
2. 2 [Option ID = 914]
3. 3 [Option ID = 915]
4. 4 [Option ID = 916]
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[Question ID = 230][Question Description = Q30_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 917]
2. 2 [Option ID = 918]
3. 3 [Option ID = 919]
4. 4 [Option ID = 920]
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[Question ID = 231][Question Description = Q31_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 921]
2. 2 [Option ID = 922]
3. 3 [Option ID = 923]
4. 4 [Option ID = 924]
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[Question ID = 232][Question Description = Q32_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 925]
2 [Option ID = 926]
3 [Option ID = 927]
4 [Option ID = 928]
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[Question ID = 233][Question Description = Q33_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 929]
2 [Option ID = 930]

3 [Option ID = 931]
4 [Option ID = 932]
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[Question ID = 234][Question Description = Q34_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 933]
2 [Option ID = 934]
3 [Option ID = 935]
4 [Option ID = 936]
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[Question ID = 235][Question Description = Q35_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 937]
2 [Option ID = 938]
3 [Option ID = 939]
4 [Option ID = 940]
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[Question ID = 236][Question Description = Q36_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 941]
2 [Option ID = 942]
3 [Option ID = 943]
4 [Option ID = 944]
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[Question ID = 237][Question Description = Q37_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 945]
2 [Option ID = 946]
. 3 [Option ID = 947]
. 4 [Option ID = 948]
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[Question ID = 238][Question Description = Q38_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 949]
2 [Option ID = 950]
. 3 [Option ID = 951]
4 [Option ID = 952]
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[Question ID = 239][Question Description = Q39_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 953]
2 [Option ID = 954]
3 [Option ID = 955]
4 [Option ID = 956]
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[Question ID = 240][Question Description = Q40_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 957]
2. 2 [Option ID = 958]

3. 3 [Option ID = 959]
4. 4 [Option ID = 960]
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[Question ID = 241][Question Description = Q41_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 961]
2. 2 [Option ID = 962]
3. 3 [Option ID = 963]
4. 4 [Option ID = 964]
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[Question ID = 242][Question Description = Q42_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 965]
2. 2 [Option ID = 966]
3. 3 [Option ID = 967]
4. 4 [Option ID = 968]
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[Question ID = 243][Question Description = Q43_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 969]
2. 2 [Option ID = 970]
3. 3 [Option ID = 971]
4. 4 [Option ID = 972]

R 5 R R 2
(A) FRFFHETH.
(B) B HIAEDNACK I, AR BRI R .
(C) RS A 30 ] B ) B b fE 7
(D) HE AP R A S
PR IE IR %
w HEAE D
@ HEBE C
@ HECE D

@ HBF A.BS5 D

[Question ID = 244][Question Description = Q44_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 973]
2. 2 [Option ID = 974]
3. 3 [Option ID = 975]
4. 4 [Option ID = 976]
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[Question ID = 245][Question Description = Q45_Chinese_UGCNET21_20NOV_S1-Shift1]
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1 [Option ID = 977]

2 [Option ID = 978]
3 [Option ID = 979]
4 [Option ID = 980]
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[Question ID = 246][Question Description = Q46_Chinese_UGCNET21_20NOV_S1-Shift1]
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1 [Option ID = 981]
2 [Option ID = 982]
3 [Option ID = 983]
4 [Option ID = 984]
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[Question ID = 247][Question Description = Q47_Chinese_UGCNET21_20NOV_S1-Shift1]
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4 [Option ID = 988]



48)
THIRMLR T (JE3EFET ) B9 ?

(A) —®T
(B) #hisE
(C) s
(D) #AFE
EFTERSE :

() HEAS5B

@ HEB5C

(3) HEA. BSD

(4 HEA5D
[Question ID = 248][Question Description = Q48_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 989]
2. 2 [Option ID = 990]

3. 3 [Option ID = 991]
4. 4 [Option ID = 992]
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[Question ID = 249][Question Description = Q49_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 993]
2 [Option ID = 994]
3 [Option ID = 995]
4 [Option ID = 996]
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[Question ID = 250][Question Description = Q50_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 997]

2. 2 [Option ID = 998]

3. 3 [Option ID = 999]

4. 4 [Option ID = 1000]
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[Question ID = 251][Question Description = Q51_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1001]
2. 2 [Option ID = 1002]
3. 3 [Option ID = 1003]
4. 4 [Option ID = 1004]
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[Question ID = 252][Question Description = Q52_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1005]
2 [Option ID = 1006]
3 [Option ID = 1007]
4 [Option ID = 1008]
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[Question ID = 253][Question Description = Q53_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1009]
2 [Option ID = 1010]
3 [Option ID = 1011]
4 [Option ID = 1012]
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[Question ID = 254][Question Description = Q54_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1013]
2. 2 [Option ID = 1014]
3. 3 [Option ID = 1015]
4. 4 [Option ID = 1016]
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[Question ID = 255][Question Description = Q55_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1017]
2. 2 [Option ID = 1018]

3. 3 [Option ID = 1019]
4. 4 [Option ID = 1020]
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[Question ID = 256][Question Description = Q56_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1021]
2. 2 [Option ID = 1022]
3. 3 [Option ID = 1023]
4. 4 [Option ID = 1024]
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[Question ID = 257][Question Description = Q57_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1025]
2. 2 [Option ID = 1026]
3. 3 [Option ID = 1027]
4. 4 [Option ID = 1028]
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[Question ID = 258][Question Description = Q58_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1029]
2 [Option ID = 1030]
3 [Option ID = 1031]
4 [Option ID = 1032]
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[Question ID = 259][Question Description = Q59_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1033]
2 [Option ID = 1034]
3 [Option ID = 1035]
4 [Option ID = 1036]
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[Question ID = 260][Question Description = Q60_Chinese_UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1037]
2 [Option ID = 1038]

3 [Option ID = 1039]
4 [Option ID = 1040]
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[Question ID = 261][Question Description = Q61_Chinese_ UGCNET21_20NOV_S1-Shift1]
1 [Option ID = 1041]
. 2 [Option ID = 1042]

3 [Option ID = 1043]
4 [Option ID = 1044]
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[Question ID = 294][Question Description = Q94_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1173]
2. 2 [Option ID = 1174]
3. 3 [Option ID = 1175]
4. 4 [Option ID = 1176]
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[Question ID = 295][Question Description = Q95_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1177]
2. 2 [Option ID = 1178]
3. 3 [Option ID = 1179]
4. 4 [Option ID = 1180]

Topic:- 32Chinese_C
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[Question ID = 297][Question Description = Q97_Chinese_UGCNET21_20NOV_S1-Shift1]

A wnN =

2)

1 [Option ID = 1185]
2 [Option ID = 1186]
3 [Option ID = 1187]
4 [Option ID = 1188]

RAETERENK?
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[Question ID = 298][Question Description = Q98_Chinese_UGCNET21_20NOV_S1-Shift1]

A wnN =

3)

1 [Option ID = 1189]
2 [Option ID = 1190]
3 [Option ID = 1191]
4 [Option ID = 1192]

it eIk ?
Bl ALK QLB DE T, 5 T AR HREZK ik
DR B “5ER” BT, SRMENRT k. Az
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[Question ID = 299][Question Description = Q99_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1193]
2. 2 [Option ID = 1194]
3. 3 [Option ID = 1195]
4. 4 [Option ID = 1196]

4)
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[Question ID = 300][Question Description = Q100_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 1197]
2. 2 [Option ID = 1198]
3. 3 [Option ID = 1199]
4. 4 [Option ID = 1200]

3)
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[Question ID = 5844][Question Description = Q96_Chinese_UGCNET21_20NOV_S1-Shift1]
1. 1 [Option ID = 22839]
2. 2 [Option ID = 22840]
3. 3 [Option ID = 22841]
4. 4 [Option ID = 22842]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution M:F)
Service (SE) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 1D

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) oo | Ee-afeen o g | (( 7: 7 )
= (uE ©) 15% 359
T (T T) 12% H:3
fmtor #iw srgeam (o) 9% 5:4
mHEeEE (i ) 18% 57
auF (UH 1) 21% 3:4
Ieared 3R ufEea (d &) 19% 58
a7 (=1 ) 6% 4.8

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tt &1 i e gy FEee i IfiEd e #4027 (9Eed & 3 9 9F)

kY & A0 =T FiAY A £E0 =T
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(3) 5.96 ©ng (4) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]

A W N -

2)

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F=3
Others (OT) 6% 3:5

Fefertaa arfers o it 5w v 53 50 ad 9 79 % fafes e | una % weEee w5 aieea
(%) oo qon gr-afeen wdee ou g@iE @ 2wt &9 % B wEee § e 80 g
AT | T30 70 ARSI % 90 T U9 F 39 20

A = FEE F1 &Fan [Fa

wferr (%) foawr | gev-aieen sgu (g9 )
Tar (um ) 15% 3: 32
ey (TH U) 12% 5:3
fmtor stk aram () 9% 5:4
TETEE (i ) 18% 57
TEYF (T T) 21% 3:4
Jearga A ufEe (&) 19% Hog
3= (a1 ) 6% 8:5

sector?

“
3

) 330% (2) 318%
) 320%  (4) 80%

Ug $ o ot S & H e Afee #eee i $e gen 9 uH A ° Seid gy ke 6 g w5
e afaea 27

(

(

1) 330% (2) 318%
3) 320% (4 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]



3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together 1z 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Hg
Others (OT) 6% *h

ffafes aife= = fa=m $ifse f5om o 57 5o =d | om = fafim &t & e & s =1 afam
(%) fagmr w1 u-afzen wEew s o T 2| @t e % e wEew A wem 80 @ g
FifeA=T § f2U 0 eT7s] F oUW W UvH F 39 aitAn)

NG & FEead 1 S99 faam

ufdera (%) foaor | geg-nfee slqu@ ( g : 9 )
T (TH 3) 15% 3:2
ey (ug ) 12% 5:3
fomto it srgeam (d ) 9% 5:4
qrETEe (W) 18% 5:7
TaYT (T T) 21% 3:4
Ieareq A ufae (4 19% 5:3
a1 (= &) 6% 3:b

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T 3R UH U &A § FEAd T59 wEew F HE W W 2 &9 § e FEee H fel Je o e
fea miferera 27

(1) 82% (2) 87%
(3) 89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforee of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

™™ 7 A M. i | =T _ 1. . T 3"



AR Y LIl WO LUIL WY RIL AL L JLIN G
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 32
Sales (SA) 12% b:3
Construction and Maintenance (M) 9% H:4
Profezsional (PR) 18% 5h:17
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% 3:5

FefetEd aifers W fa=m fifae 558 o 57 50 99 3 T = 5 & § 9na 5 e 1 e
(%) Taemor Qo geg-ufeen wEEe wquE g9 T 2| '@l & % Per weed H Ged 80 @
ATt T T2 U S77RS] % YW T YTT 397 a0

wferora (%) foreeor | gea-ufeen wgE (709 )
Fa1 (uF g) 15% 3:2
H7q (T T) 12% 5:3
ot =it e (o) 9% 5:4
TFTEe () 18% 5:1
Te9F (UH 1) 21% 3:4
FearE ARt (0 #) 19% 5:3
3= (311 ) 6% 8:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

UH U HN UH U aE § Heitd afeen wreee i $e s AR 0 f e o swekg aften sEee S aen w6
A e 27

(1) 5.1 <@ (2y 7T.5<m@

(3) 5.7 =g (4) 13.2 9™

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
. 4 [Option ID = 8040]

A W N -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% B
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7




Management (IvLA) sl I
Production and Transport (PT) 19% 543
Others (OT) 6% 3:h

freafafiaa mife w fomm Fifse 5o oF T3 g 9d | oem & f5few &9 @ ava F Feee & e
(%) faamo qun wEu-ufzen FefEE wAoE S@r T 2 '@ @ % Fe Feiee f e 80 @ R
ATt § T2 U SATHS] % YW 9 YT % 39 alAu)

n ; i ;
RE & HEAEE H HAGN G

wiawra (%) faeor | gra-afeen s (79 )
T (v ) 15% 3:2
Ty (ug ) 12% 5:3
frmfor 2 e (o) 9% 5:4
qrETe (W) 18% 57
TaEe (TH ©) 21% 3:4
Ieare R i (4 &) 19% 5:3
o7 (= ) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 : 39 (2)16: 37

(3)16 : 35 (4) 16 : 39

of uq & o S AfEen wEwe S g @ d 9w g o F st 4 el gey wEee $ Fe g &6

U FT R
(1) 17:39 (2y 16:37
(3) 16: 35 (4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1 [Option ID = 8041]
2 [Option ID = 8042]
3 [Option ID = 8043]
4 [Option ID = 8044]

A w N =

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

WA = E T ¥ g TR HER 91 gEe 5 3 T R I S W WA B
(1) == (2) wrET T
(3) TR (4) T fawm T

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]

1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy



(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafas T affe aem quae f 9=t @ e aes gadi fafim wat & e 1 =

T B | 3 g S SHaER S Ht SHart £ 390 U i O SHa STEEn S % A ot 8 7

(&)  men-gwar (FWe)
(B) faEsm
(Cy  Tamamr 6 aferfs

(D) HEE]

(Ey  A5rFar

e fau o faskedi @ @ @El ST w1 =EA Fifw

(1) (&) = (B)
(2 (B) 3R (C)
(3) (D) #HR(E)
(4)  (B) =R (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List | Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (I) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I), (C)-(I), (D)-(1V)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(V), (B)-(lI), (C)-(I1), (D)-(1)

(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(l1)

Tet-1 % @y gi-11 o1 foers $ifse) g=i-19 =3 wiftem wene 1 foao £ fafim & 0% 2, safs ge-
11 9 wies fafeen 1 oqmEeiea a8 5 a1 3 78 2]

-1 =111

Toreqor =1 ften TS wEH F AFAE

(&) TmE-TE i siEteae At (D) ey S A



(B) T 3R gad! wferm fafy ()  ifishfia STaEeRe 5

(C) e it dafws fafy (II) Aisger AT<ATcHF A
(D) forem it s1i7emzs fafa (IV) aft== = mny-ory T oo

= fau o fameul © O wE 3E w1 = FitAv

1) (A)-D. (B)-II), (C)-(ID), (D)-(IV)
@) (A)-IID, B)-AV). (C)-1). D)-II)
3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (O)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (I) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

o (D) : IUETed AT TR WS S WA % S S IR a9a F S dE

F2 (II) : FEAE =REeg TEY 3w SAteacs wiEn gt & & =EEn 3 o

A T YEAEE W GO R A E)
I FAA F e A, A= B GEmen § 1 med seg I = i

(1) = (D) =i (D) 241 =2 2
(2) = (D) 3 ID) 3 e F
(3)  =wA () We B, 9 Fo (1) 7 21

(4) == (1) T=4 2, @t 99 (1) 58t 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

B T " W S e SR SN TR S (NN 5 WO . SR . <N . Y x5 oo SR s, W, I~ . - 5
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“

=+ = H

s (A) foem 4 sgfe st s #@ A snariE gEEa g 1 FiE wEeE st e
! SEAH T 2

F1 (R) fordt Tt oo memar wemett = wfee gfifEafaa 8 gaw & @y ag e T
=nfen|

IR FYA W |, A o T foe | @ w8 S 99 i

(1) (A}@T(R)Q'FFEHFJ%J\{(R)(A)EETE—E&W%l
(2)  (A) 3 (R) 24 & £, &6 (R), (A) Fi w8 = 74 21
(3) (AT 2, AFF (R) 370 2|

4)  (A) @@ 2, wfE (R) 99 &)

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

Tor| TR % Tt | wiaEEi-uiss = ueEad e S 2 v

(1)  F=dra ame (2) tfeEtas my
(3)  =EEETeEw Y (4) TR Y

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e ufizer fomeft afiorfa = &t sifigfe =1 smfe w9 4 et 8, o 1 fF=fafes 9§ 9 & fate

T TIE TUFE 27

() T

(B)  wEITIeR= &g

(C)  =mEee &t
(D) e &l

(E)  =a™ares fara

= fou T faseqi ® @ w3 = = A

(1) (A) =71 (B)



(2)  (B) #R(C)
(3)  (C) ¥ (D)
(4) (D) 3 (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(1V), (C)-(I1), (D)-(1)

(2) (A)-(1), (B)-(I), (C)-(IN), (D)-(1V)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

-1 % =19 g=-11 1 foem Fife) g1 % 779 % =2 920 3, Juih g=i-10H 39 g g T

7T T=II
Y = = TR TR AT A
(A) wwEE (I)  HAThS! =1 AR AT A6 Tt
(B) uftwews fmior (I) e T U2 T ] H o=
(C) === wisn =1 == (IT) == % &= ¥ §&F 999 I3
(D) =g fagemm (IV) =9 F =0 F w9 gEy w9ind Fw7

= fom 7o fawel § 9 wE 39 w1 999 FitAw

(1) (A)-(III), (B)-(IV). (C)-(II). (D)-(I)
@ (A)-@. (B)-AD). (C)-(ID. (D)-IV)
(3) (A)-(II). (B)-(IIT), (C)-(I). (D)-(IV)
(4) (A)-(IID), (B)-(D). (C)-(ID). (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (I) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement () is false but Statement (ll) is true

F= 2wy fse T -

w4 (D) : U WE-TEE HT A -TT ° ogd R HEHA % e SR U] o siE wiE Sdqr T8

GIE L]



o (IT) : ity et Afahar F sas Fguer adt sl # foro wfEe 2

SYIRE YA % e |, A 5 T fasedl § © A 3 1 99 it

(1) == (I) #H (1) 3 T 7
(2) =y (D) & (ID) 241 318 3
(3)  FW (D) uA 2, fF F9F (D) 39 2|

(4) = (I) 99 =, witda A (1D 7 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hr 7w fou T E ; ww sfiEhue (Assertion A) # &9 ¥ fofigd & ZE =@F FAV (Reason R)
% E=H :

AR (A) et s wterewr (Hy) =1 FemesofiE afimesn (Ho) = gerar ° giem B s

i
F (R) : g aftwemE (Hy) #i ahomfa 7 aifigfe d@g =v 9 75 & 5 o= 2

IUE YA & A °, = 5 e e § 8 wey 3ugs 3 6 99 i

() (A) 3T (R) 31 71 2 3 (R), () F T =m0 2|
(2) (A i ®) 3 wE B, 0 R), (A) F @ = =@ 2
@ (AT, @ R) wE T 2
(4) (A T TE B, @R (R) WA R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

A TH 9iTE Tk a g uE femw fefetan © 9 e Tt o s e e
(H 30 77 2 30w
(3) 15 FTFH (4) 15 7%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?



(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| FmmTT 1 udE-faeE (S) "Let truth prevail 27

(1) fz=zgms (2) =TETH STF SrEA
(3 ff=m (4) =feg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 =y 2w U E ;v wiHEU (Assertion A) % T H fafima 2 @ B 3% FA0 (Reason R)

ATHFIA (A) : ATeF THR (FT5FRE) AUaTHd Ai6F TEEIE S AHE A 8, e A8 Hifsa
i 9% H T 99 U2 W 2

FT9 (R) : 2Tz AR (WS difem W asE B i S v 2
T YT F A °, A B T e § 8 wew 3 S A = i

(1) (A) " ®) FH =7 3 3R R), (A) F 7 ==

(2) (A #F (R) =A@ B, S (R), (A) 1 @ s w4 2
(3) (A = 7, d@fF (R) @8 746 2

@)  (A)wE FE 7, wfw (R) WA B

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

FAEER o I &7 g IMAFT Ue AeEhes (FH TER | UH TN a9 aigsw! a@med 597

(A)  wEE fagm At i ama A @ e F

(B) == Tla S=iga] e & W e 24 & e
(C)  a7HER 1 o aome #1 TR s 6 )

(D} =& 97 "9 + feu T gty =1 aeme uyE Oias =5 2



dr f2u o faedt ® @ @eE 0T 39 1 9 AT

(1) =& (A) 7 (B)
(2) = (B) 31 (C)
(3) @& (C) #iT (D)
(4) = (A) #T (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

e <t 1S g 7 I wEmw A wE e = et fif

(&) s

(E) &= =19 8540

Hr= fou o faheat © ° wE 3 =99 Shifan

(1) =4 (A). (B) 37 (C)
(2) &= (B). (C) ¥ (D)
(3) A (C). (D) * (E)
(4)  =aE (A), (C) #H (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

TF T4 % SN OF GiER 1 SEd A o9 uMH 3 HEEl 3 4000 F9H, 3@ WTE 4 ®EEl H 4500 w9
AR Afaw 5 WA #5000 w9 A1) AE IW AN % A el w6 5000 T o @ 3@ GRAR H eftEa



ATt 29T R i ?
(1) 3000/~ = (2)  4000/- T

(3)  5000/- w9 (4) 6000/- w5

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 & ®rg #i @i Ty Heme = e aan -

(1) 765 (2) 08.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

1 =fE 33 i 39 99 W 11 iR 39 F oA g & ave @ At = 21 afoww 3 e
Q.Q-:

()  25% 2 50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26%  (2) 5.26%
(3)5% (4)7.2%

Atz ot awq 1 T e EE T gem # 95% 2 @t @ i wfawaar 74 27

(1) 4.26% (2) b5.26%
(3) 2% 4 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

7tz w15 =afs fawet awd +1 26% wiewd 6 @ @ =8 1200/- #99 & sS=a1 2 1 30% = @9 FAH &
feru 36 3@ awg =i o Sima W ST TtET a9t

(1)  1600/- =73 (2) 2000/- ==

(3) 2080/ = (4) 1560/- =94



[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

Tel WAATE ZAIE B WA 1 Fefatad 8 § w9 9 e 95 w9 9wy aeEa
AT 27

(1)  samE (2) A
(3) EULIE| (4) :g?_{qm%'ﬁ

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TR o FFEN FTHE % A H S ] wE e o R

(A)  Toams fawg @ sgmw it @uEa )/ oE=aT F1 FYE (3999)
(B) WO = w9 (%9)
(C)  sAfqumon =i fagdt = =0 ° gfe (femm)

(D) aAfqamon =1 F9= (wiam)

(E) Tafza fram =1 2z 21 (Z=2mm)

Her fau e fashedi § © @& 3T 0 =G AU

(1) (D), (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (&), (C)

(4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philosophy reduce Sabda pramana

i{verbal authority) to inference?

(A) Nayava



(B) Vaiéesikas

() Buddhists

(D) M mamsa

(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B}, (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

T RA ZEF9E i FH T BEEE 953 TH S SFEE % AT JEdal 27

A)  =E
(B)  dsify=
€ g
(D) HmEn

(E) =@t/

Fr= fou o fareai § © wE 3T R =9 Sifae

(1) === (B) #h (C)
(2) ==« (B). (C) 31 (E)
(3)  Ha= (B) 3 (E)

(4) === (A). (D) #0 (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

et 31 Fua fm o E
ECERVE T RHATE TR % SAR T 0 e 3 5 H Gt a2
F7 (1) : Ak WA F% 81 gardl & 5 =0 fFE usn @ sgae s =i sfes awa: T8

SaTd 2 76 26 0 aEE e 2

INTE FU % AR H, A= 5 T e § ® 'E 39 == i



(1) =59 (I) 37 (II) 31 a9 2|
(2)  =uE (D) @ (1) 31 /8e7 21
(3) = (I) wca 7, wiffa =ad (1) 315 2

4) T () w1EeA 2, o F9a (1) & 2|

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

gA-1 % = g=i-11 1 fgem Fifsm)
i1 T II
T = = GEEIER
(A)  wfipgron 6 wefE % =9 9 gfe (I) = gaff 20 & 95 A7 Bt 2 S WmEe
L
(B) = =T HY () weTEl W A 2
(C) fafea Fm = sgmaor & (II1) HfeT 9aTE] o 31 2|
(D) Tofua 1 =T SAframe #= w0 (IV) it & g 2

F= fou o faskedi @ © @E 3 0 =99 iAo

(1) (A)-(I). (B)-(IIL). (C)-(IV). (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(IT)
(4)  (A)-AD, (B)-(D). (C)-(III). (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

UF S5 & HOEI 9 ' B 0 UF A9 Higel @ eiugd #1 i R 2 e e fama fogua w2 aw
1 e Sz AiSEl 1 ST SRR | @i S 999 § 9 R

(L P (d) = (2 -ty



(3)  wifers ¥e w18 $15d (4) U i S s

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

T 71 Fum U T E : vF AR (Assertion A) F ®7 ¥ fAfaw 91 950 3WH FEO (Reason R)
wEYH

WAt (A) Tl WETT AT REE H U AT s e =0 F g e e
F10 (R) T ¥R FegE #Y 90 W ATE § 5aE A8 e wd |

ITE FYH F A 1, 9 2 T T § % we 3 w5 99 it

(1)  (A) 3 (R) A1 & & #1 (R), (A) 1 &1 == 2|

(2)  (A) 37 R) 3 T E, @ (R), (A) Fw@ =men = 2
(3) (A= 2, w9 (R) w8 2

(4)  (A) =@ 2, @A (R) 979 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) ldentify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

o A2 W wEH B G9aT % w4 FefeiEs wrm anae w8 w9 A aEEe i)
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 & Bytes

(D) T Bytes

Hi= fou U faekel | @ =WE 39 %1 9 it

(1) (D}, (A). (C). (B)
(2) (4. D). (C).®B

(3) (A), (B). (C). (D)



(4) (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (1) is false but Statement (ll) is true

FAEEM % HaY # AEH sy 3 - S ge A, A g #wed g e E

w97 (D) : AE-FTE il I g H FE w2
FuH (ID) - ATE-THTE F AIGAE W segd i ST FA ATE A W H S A 1 dw 2

IIF FUA F AEF °, A9 20 70 FEe § |/ ¥ 39w 99 i

(1) == (D) = (1) 391 77 3
(2) = (1) =i (1) 21 s B
(3) FE (1) 703 %__ wi (II) =154 :’—4

(4) =y (I) 38T &, wha F9F (1D 97 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

g1 % =y g=i-11 1 faee fifsm)
T 1 11
(Frege rfeaTiu 7752) (vrT=)
(A) OCR (I)  Zfha =1 wedfciiiga seamEl =1 & *H
fem e e 21
(B) OMR (1) wg-Tomeda whemsa § 3% 5= F- + foo
(C) Email (ITT) STEm=Te= FrgHHT
(D) Instant Messaging (IV) =R q,uqu},.(H

Jr= f2u o faseal @ © @ 3T W =ma i

(1) (A)-(ID), (B)-(D). (C)-(IV). (D)-(11I)
(2) (A)-(ID), (B)-(1). (C)-(IID). (D)-(IV)
(3) (A)-(D), (B)-(ID). (C)-(IID). (D)-(IV)
(4) (A)-(D). (B)-(ID), (C)-(IV), (D)-(IIT)



Match List I with Tist IT :

List I List IT
(Computer Terms) (Purpoze)
(A) OCR (! Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinations
(C) Email (III) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1D)
(2) (A)-(IT), (B)-(I), (C)-(III). (D)-(IV)
(3) (A)-(D)., (B)-(II), (C)-(1II), (Dy-(IV)
(4) (A)-(D). (B)-(IL), (C)-(IV). (D)-(I11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

f=fafaa 8 8 Fi9-91 UF 91 F G0 FHA e awd 20
(1) TR TENHEES (2) fHumEs F=mEs
(3) T SEATETES (4) wrEm

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

Frferfiga & & F-m =91 | g 91 w5 =9 A6 27
(1) == s (2) T F
(3)  wEen (4) efEE

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

Fefafan ¥ 9 F9-5 THfH e ST Al B HR I ATTHIGH TR T T # 7
(1) 5= (2) “IeEE R
(3)  =EmH (4) TEE

[Question ID = 2044][Question Description = Q38 _GP_20NOV_S1_SHAAN]



1 [Option ID = 8173]
2 [Option ID = 8174]
3 [Option ID = 8175]
4 [Option ID = 8176]

A W N -

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

A T 1 G FE O 929 § NMSHE FefatEy § 8 s gamem 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszsion on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frmafetias 3 @ f77 TRt 1 Tige 19 T e S Fearg Tiedd W 0 27

(A)  ATZESH SEAFEEE
(B) =R wE4 (PMas)
(C)  =ArH

(D) e

(BE)  -zd s

Fr2 fou o fawewi ® @ w1 I w1 = Fifw

(1) =& (B), (C) =1 (D)
(2) === (A). (B) #0 (C)
(3)  =hae (B) 3 (D)
(4) = (B) 3T (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
= foren = "ed H, urEE S=Ae FEeE § e e § ve uggs dan 9 fuife e fo
Frafefaa @ o g wgm fm /anea =i fee g ot

(1) g (2) wIH e



(3) wd s (4) uamEHids

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 = |y g=i-11 %1 e fifs)
Tr-1 FA-II
A) TETE @ T
(B) wHAESET 1) sra=
(C) TF = AR =T (M) =a==
(D) i & (V) =

= f2u o fwedi § @ | 3 w1 = il

(1) (A)-AD, (B)-ID). (C)-@). (D)-(IV)
2)  (A-dD, B)-D. (C)-AV), (D)-(I1I)
(3)  (A-ID. (B)-dD). (C)-@). (D)-(IV)
4 (A)-OV). (B)-(III), (C)-(ID), (D)-(I)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?
(A) Articulate new directions for research and innovation in technology.
(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.
(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).
(E) Build intellectual and institutional capacities in Educational technology.
Choose the correct answer from the options given below :
(1) (A), (D), (E) only
(2) (A), (B), (E) only
(3) (B), (D), (E) only
(4) (A), (C), (D) only
7% frem g (w7 € 0)-2020 # w7 £ F % F T T w1 OWAE 2| 9 A F e w9 E e

(A)  OrifTER d s A FaEn wg AU FE dEn )

(B)  =IfeTd =i mHEH 7g WrEifTh % YA % GEg # HEE % gE0 SEE-TEE &G U B geal FOE

(C) =i e T w1 serE 33 ° gEEa ag saardt e =t =)
(D) TRz Ti=El, FY SR FeErg uiEdd & &9 ® AfTaw e w o e ey e rseEe

(E)  forem oot # siif.g® o7 SEmTe amarsti =60 (Hamr =



i fou U faeket # @ HE 39 %1 9 i

(1) &7 (A). (D). (E)
(2) == (A). (B). (E)
(3) == (B). (D). (B)

(4)  Fa= (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

faferfiaa # 5 FH-0 3-=famm 7= 2 7
(4 =9

(B) W@

(C)  w=Fusn

D) e

(Ey ==

2 fau mu fakeat | ° wE I = wma A

(1) === (A), (B). (E)

(2) e (A). (C). (D)

(3) == (B). (C). (D)

(4)  FF (C). (D). (E)
[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]

3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

I TP T TIE 29 gA1 A4 2015 ® #ad fawwm wem-4 °@ metad fefatae 4 @ se- 95 s

T YT

(1) 377\ T 3R e (2)  ToTETTE e

(3)  TE ImEA (4) TP FETERE UF SEEEAT



[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]

A wWw N =

1 [Option ID = 8201]
2 [Option ID = 8202]
3 [Option ID = 8203]
4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1s suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and 1ncome, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS T AEEHYEE U 9T $HF @75 4T T 99 H I 2|

FHAT T F(G5- 19 FEEH 501 9659 F A4TIE I79F = T4 @6 50 fGveag F e & e
ot gA 21 Tt a4 % wAfom 24 4 o @ sus 3399 % WY gF G Hahied h BISH Teah
TR B B 9 21 3T OF @ ®9 H 10 9@ o SO I a1 99 7 SR gl aead w5 a #
TTET FEEAE A IS U3 @ 2| Wed 9% SEEN WReT HEd @ Fal oAGd 8, T8 UH Agaed
wETTE-AlE w9z H 2| 29 W UCA® oA SHE AW | SE% SRRl SIS Ands i
T TATE USH A & TR o oee q e (e e A B | g ag s wEitas sty
(ferait) & 9w 31 ff o T 9 T W T B, 919 6 7% v TR e & 5eAn ¥ 99 |
= medt ggai w1 A 2@ w1 2 9w 7% dfvew amdE st fEem F e W ot 3w EiEe
A Hged e 9 T 21w G @ s St o o e w 2| 3 T8 A 6 it
w8 TG B W W R B g gl ok s 9l wEg-gz Wl 93§ AWgE oW 5ed
A & 6 400 fafema (40 #rs) Sl 1 Al =1 @wdt 8| e @ 3 sEE s 2 R e A
w-uaur (ifada) § 110 faferm amfef s i =it smofl) soe sifyome 2 % s00 faferm (80 #us)
AT A FEEE S # 9 F § T T A A

The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

fadia favegg & w12 fwa 1 o= 91 a9 FFm &3 | s 27

E‘l} ~ 2 Y ﬁ\ (2) ) Y e Fﬁ
(3 B It (4) T

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

A wnN =



Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1s suffering under an almost
intolerable burden of loss. But the pandemic iz much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS T AEEHYEE U 9T $HF @75 4T T 99 H I 2|

FHEFT TEE FG5-19 FEMRT TR 759 F SAYTYS I7aH TR §he 3R fm faeag & a1
ot gA 21 Tt a4 % wAfom 24 4 o @ sus 3399 % WY gF G Hahied h BISH Teah
TR B B 9 21 3T OF @ ®9 H 10 9@ o SO I a1 99 7 SR gl aead w5 a #
TTET FEEAE A IS U3 @ 2| Wed 9% SEEN WReT HEd @ Fal oAGd 8, T8 UH Agaed
wETTE-AlE w9z H 2| 29 W UCA® oA SHE AW | SE% SRRl SIS Ands i
T TATE USH A & TR o oee q e (e e A B | g ag s wEitas sty
(ferait) & 9w 31 ff o T 9 T W T B, 919 6 7% v TR e & 5eAn ¥ 99 |
= medt ggai w1 A 2@ w1 2 9w 7% dfvew amdE st fEem F e W ot 3w EiEe
oA % gcd 3 e R T 2| W T S and Ssfan ot e e w 2| 3 T8 e o afiesfe
w9 GEFE B W W A g gidle wgl % wiee s wHg-dz wel 95 B SAaUsiE 49 E@eT w6
e & TR 400 fafemm (40 #s) =i i Stwfen st wdt 2| e d% 3 wgEE @ @ oo
w-uaur (ifada) § 110 faferm amfef s i =it smofl) soe sifyome 2 % s00 faferm (80 #us)
AT A FEEE S # 9 F § T T A A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

meEmEHl = Feafefiad § o TR &9 w auE =995 e 27

(1) == (2) =t
(3)  =mm @R v (4) @AW

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

AN wnN -

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

sreatest challenge we have faced since World War Two. Since its emergence 1n Asia late last



vear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socio economic recavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 300

million people will not be able to meet their basic needs.

T W HEEHEE U2 AU 36 915 5T T uv % 3 2|

FHAFT = HiF5-19 FEME 501K 569 F SYdYs 479 S g9 iR {3 farag & e f mem
21 A 21 fome 39 & wifaw 91 4 ofoen ° sas 399 & WY O 9 SRR i BieE U
TR B B 99 2| 96 7% @2 B0 4 10 A oA SO S T g9 7 IR ot aeear # R
TIHT SEEAE A IS TS @ B| Wed TR WEEN WS GhC d A AGE 7, TE TH AT
aEfaw-Afd® awz off 31 3 = veEw =t e awifEa 3 T e aefas arfds wiR
(fadt) @ 7 w= < ff o T 99 T W T R, W @ 7 f9vg R e & 5ed E u9w
wWEe Hedl ggg H W 2@ W 2 99 g% dfve® ueEE et FEeE % e oW g u s
A=A % Gged 3 e T 2w e A and Ssfen o arm e i 2| 3= T8 A B afifesfa
w9 GEFE B wEed v A g gidiw el % wiee i wgg-ue Wl 9S §| SAagiE 99 w@eT w6
w9 & T 400 fafemm (40 Fs) = 6t T o1 @wdt 31 fFva o 7 agEE S 2 |
g-Tm (ifEeE) 9 110 fafemm s sen it w6 st see wfiom 2 % soo0 fafemm (80 =0s)
A At gfEd wEEt W o we § ged T8 8 e

Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica

FIA—H1 TG FES-19 H HeE FA AIG 537 & 7

(1)

(3)

T (2) I smfeEm
et (4) TR

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]

A W N -

1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an

unprecedented =ocio economi crisis. Stressing everv one of the countrv 1t touches. 1t has the



potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.

I W HEEHEE U A1 §H 915 148 T W I 3

HIAFT T FHF5- 19 TaME 201 059 w1 AYdYs 370w = g9 i e faveag & an o wem
oS A 2| fUse o % sifam 241 & uforn § sue 3299 % WY JF 9 FACERiH i BDISH el
TETET B g 2| O TF §@E F9 H 10 W S SO FH T 9 7R R AeEad w6 ORI
W SEEAE A" S8 95 1@ 2| Wl 9% WeENl e "% 4 Fal SAa® 8, 9% U SAyayd
HETAR-ASF Gz S B| 29 W UAF A SHE UANGd 2| SE% [SHEREl @ETHE ATdE S
(ferarft) @ 7 w2 & ft o 7011 909 T = w7, W @ T fOve TR we & medm ¥ A9 1w
e gedl gegl w f 2@ w2 a9 37 dfvas AmdE e FEeE o wE w0 o g w s
THAE % Sed § e R T 2w 5T A e St o AE e w® 2| 3 T A R aiegta
w9 GEE B e WA g g gl % viee 3 wHg-te Wil S B SAaUsiE 49 E@eT w6
A & TR 400 fafemm (40 =s) <M =i ARl S @Rl B fava S A ATEE S 8 R os| A
g-Tan (Ifgdm) 4 110 fafeams smich gen #1 =t st o stfiom 2 7 s00 fafemm (s0 =rg)
S AT S et g w § gued a8 A e

Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC

71 ® @ fopm Tem 5 UN it mnfae anfdes afamfa (fereadl) g =1 9907 wem foar 27

1)
(3)

UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]

AN wnN -

1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since itz emergence 1n Asia late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UNs socle economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.

and working under the leadership of the UN Resident Coordinators. Every day. people are



losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T F FEEHEE U2 797 S 915 159 T 9 H I 5

FHIFT TEE FHIF5-19 TEME 201 569 F SAYds d7as S g9 iR fga faveag & ae o wew
=21 A 21 fuoe @6 % sifow 5 9 oo 4 @t e % W 7 aenE AR H SIS ToOE
TR § A I 2| 39 a%F g@:E 9 ¥ 10 9@ | A FH 9 9% & @R gl geEar # wf w5
T SEEAE A IS 93 W 2| Wed 7 FEMN SR G%z ¥ FE AUE B, T UR AqEqd
qETER-AfGF wHz G B ZW W TEF A WE U992 T Omwn wmtes aids o
TSHITa® T4 TS a1 7 T o5 SR 99 e TR T A 2| G99 % # Amias Afdw afqaty
(faidt) @ g w= < ff o T 99 T W T R, W @ 7% f9vd R e & 5eA E u9w
e wEdt ggg & ff 9@ w1 2 9w 97 3w amEE e FEem & FE w0 off 3w s
o7 % S9ra 1 7o9a 1 T 21 ' T2 o At St o o T w 2| I A6 aa e afifeafe
W AT B0 W W R B g el R B ol eHg-az wrel 98 8| daEE oW EvEd w
A7 2 T 400 fafeem (40 Frs) S i e =1 Gt 2| fva d@w 3 wEE e 2 e s A
g-Ta (IfEeE) 9 110 Tafems s sew it w0 st see wfioe 2 % soo0 fafem (s0 =os)
S A g wE W g e | Fud 9 e e

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Fifas-19 % AeF 7 Fefafea # @ 0 g1/ ofoset 52 &5 it qe8 9 g9 e ?

(1)  wEea 3am (2) = uiE=E #eg
(3) A afaeE (4) EfrE afbeE

[Question ID = 2056][Question Description = Q50_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






